	Year 6 Spring 1 - Answers

	A
	B
	C

	Double 24 = 48
	Double 44 = 88
	Double 42 = 84

	Double 2.4 = 4.8
	Double 4.4 = 8.8
	Double 4.2 = 8.4

	Double 0.24 = 0.48
	Double 0.44 = 0.88
	Double 0.42 = 0.84

	Half of 24 = 12
	Half of 44 = 22
	Half of 42 = 21

	Half of 2.4 = 1.2
	Half of 4.4 = 2.2
	Half of 4.2 = 2.1

	Half of 0.24 = 0.12
	Half of 0.44 = 0.22
	Half of 0.42 = 0.21

	Double 27 = 54
	Double 49 = 98
	Double 38 = 76

	Double 2.7 = 5.4
	Double 4.9 = 9.8
	Double 3.8 = 7.6

	Double 0.27 = 0.54
	Double 0.49 = 0.98
	Double 0.38 = 0.76

	Half of 54 = 27
	Half of 72 = 36
	Half of 92 = 46

	Half of 5.4 = 2.7
	Half of 7.2 = 3.6
	Half of 9.2 = 4.6

	Half of 0.54 = 0.27
	Half of 0.72 = 0.36
	Half of 0.92 = 0.46

	Twice 0.36 = 0.72
	0.86 divided by 2 = 0.43
	Twice 0.38 = 0.19

	Two multiplied by 0.48 = 0.96
	Twos into 0.64 = 0.32
	Two multiplied by 0.35 = 0.70

	Double 0.27 = 0.54
	Half of 0.48 = 0.24
	0.66 divided by 2 = 0.33

	0.68 divided by 2 = 0.34
	Twice 0.38 = 0.76
	Twos into 0.48 = 0.24

	Twos into 0.46 = 0.23
	Two multiplied by 0.35 = 0.70
	Half of 0.82 = 0.41

	Half of 0.84 = 0.42
	Double 0.46 = 0.92
	Twice 0.37 = 0.74

	Half of 0.82 = 0.41
	Double 0.27 = 0.54
	Two multiplied by 0.39 = 0.78

	Twice 0.37 = 0.74
	0.68 divided by 2 = 0.34
	Double 0. 47 = 0.94

	Double 4.8 = 9.6
	Double 3.8 = 7.6
	Double 2.8 = 5.6

	Double 5.1 = 10.2
	Double 5.3 = 10.6
	Double 5.2 = 10.4

	Half of 3.6 = 1.8
	Half of 3.8 = 1.9
	Half of 3.4 = 1.7

	Half of 7.8 = 3.9
	Half of 9.8 = 4.9
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	Double 6.7 = 13.4
	Double 6.8 = 13.6
	Double 6.9 = 13.8



